R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88 dwg, TX-4685

POWERED Bvlﬁ

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2018
international Residential Code {IRC), Sections R301 & R609 and the 2018
international Building Code {IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1.

2.

Anchors shall be as listed and spaced as shown in the details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.
When used in areas requiring wind-bome debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.
Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

Conditions not covered by this drawing are subject to further engineering
analyss.

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details (Ulfimate Trilennium)

Door panel details

Horizontal & vertical cross sections
Vertical cross sections
Frame anchoring

Onjn|d|WiN

74" MAX. O.A. FRAME WIDTH

82" MAX. O.A. FRAME
HEIGHT (INSWING)

81.125" MAX. O.A
FRAME HEIGHT {OQUTISWING)

L

DU
QF
. «" 04.1 23

2
)
DT

2

)

:
Pl
H
$

8
-

DAY
.0
.
srnass

eyt

SCHMI

e
NDON F. SC!

‘\-‘\\'\;\'\.1111

3, %p
b
*,
e

7
()
%

e 9% 4

Lyndon F. Schmidt, P.E,
TEXAS P.E. #104123

XX

PINE

+35.0

-35.0

+55.0

-55.0

XX

"FusionFrame"

+35.0

-35.0

+50.0

-50.0

P.O. Box 230 Vairico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS | PART OR ASSEMBLY:

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

10/23/19|ADD "FusionFrame” OPTION &

1

e
<
a
o
4
6

oaTE: 11/16/1

SCALE:

N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:
TX-4685

SHEET

1 oF 6

@ 2016 R.W. BUILDING DONSULTANTS INC.



CON] SANVLTINGNGD aNiaing "My 9102 (@]

ZS8LL—d # NOLVMISIONYN 40 ILVOLIINID SNOISIAJY
SHIINIONI “IVNOISSIJONd 40 QMVOS SVX3L 3@5&@.&&&«%@%%3 A . 31vd [ONjw 6_
LBLE'6SI'TLE FON BUOUY . 3000 0¥I/08I 810z 0L 31vadn JJulx|2] 9
S6GEE "ld OOUIDA 0€Z Xod "0'd \N\w@ ‘ATBNISSY H0 1dvd | 597 ® NoOUdo ,dWwoijuorsny, gavlel/cz/01l L |©l= —, 9|8
“ONI *SINVIINSNOD ONIGUNE ~ = m 4: 2_
- = |&l&Elg X
SZTILYOLF "T'd Svxal YUNANG I Im
‘3'd WPIYDS 4 uopuky :Ag pedodedd sjuswinosog 119N30Yd 2|3 m g £
o|lnio (S 1= [
WOLL0E
¢
<
A1¢8
onvesarerestee PPN
X5
5
Py
in
N
[5¢]
™~ A‘E :W@.N /‘l"
f o
_ 2
b5
. . 3
e R Ke)
[Ty) - — (®)
w z
3 L 4
] G
H o
] 2 =
8 5 M m
U =
z <C
- 2| 9 ¥,
<. = S
Yo il .
R - &
P C = =
N3 " <
: :
= <
ad C = €T
Zz 3
< < P
) ) £
- o
< 8.,y
Q i 4
< 2
B 25 o
¢ g
3 Q
e =
[ =H m DM..
1 . E
< X
=
5 (%)
o [7¢d
vo N =
— xI
.
Q.
oo &
>
=
e+

dolL

Upper Bolt Sleeve
(Aluminum)

(Zinc)
Lower Bolt Sleeve
{Aluminum]

{2) #8 X 1-1/2" PFH
Wood Screws
Upper/Lower Bolt
Actuator Lever

Roller Strike

Aluminum Body
ULTIMATE TRILENNIUM ASTRAGAL

4
\J

| 'BMp'g8'L8's8'¥8IY-XL\sBuIMeI - D\(WniuuadL) Paze|D LS BUUOSEN $98-YQ - IAL\SUI 40 3daq sexa - \LNINVINYI einpuI\sIusID\Y



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium\C - Drawings\TX-4684.8587.88.dwg, 1.3

STILE (LVL)

-~ 175" —=

EXTERIOR

W\
A\Y
¥/

(4

0.81"

A

1 \ HORIZONTAL CROSS SECTION

INTERIOR

STILE (LVL)

LOCK BLOCK

NE%

!

&

DOOR PANEL
Masonite
Steel (Wood Edge)

DOOR SKIN: 25 GA. STEEL {0.020" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

35.75" MAX.
PANEL WIDTH
D . 2'MAX. B
‘ D.L.O. WIDTH |
g
/ : o
1 VA 2
Y T i
T =
2 O
- 2
[VE] .
o
= X 2
>< 5 ~/
3 F< .
= = in
= - O
X 3 n
o |1
/ 3
/ | |
/
s | ||
w (TYP)
SEE HARDWARE  ODL LITE FRAME
TABLE

INTERIOR

#6X1-1/2

PPH SMS

(WOOD: 12" LONG)

GLASS BITE 1/2"

v
1

EXTERIOR

#6x 1-1/2" PPH SMS
(TYP.)

L
a
N 1711111111 ]
|

1
<

. ODL LITE FRAME
HP Polypropylene

1.75"

Y

o

STEEL SPACER
Q'SO SEALANT

LOW TACK SEALANT

C:) GLAZING DETAIL

Endura

Multipoint lock (3pt.)

— 1/2" OVERALL GLASS THK.

1/8" TEMPERED GLASS
/

\ AIR SPACE
1/8" TEMPERED GLASS

TRILENNIUM
SERIES 3000 MULTIPOINT
LOCKING SYSTEM

td
AOOOY, Y
SR I'Q A 0
S xial 4 g 2 o
e A PR ) Er 0 uWwn
FaXxe" 1= WEs & U8
)y F a3 A NN 9 £ 7
et 1P Houw (S o
oK O fm AN 21
2 O ok i L
Zoi YR ju i X 3 £55 23
4t bt S Qs Zz
23t HE 2 200 88
XA HeN ¢Fr Sctmp 20
LR N 2 45¢ 2
G ar., P 2>n
(o N U P a2° - ﬂfé
Uy K i o 89 ob
By i d 5 8R. &6
Minaaden @ g ouw
H géz 6w
P Fa (] o)
TOP RALL 2 205 g
4 moan <3
R A —— R
(]
25 GA. STEEL §
SIDELITE SKIN o

INTERIOR

EXTERIOR

FOAM CORE

0.81"

BOTIOM RAIL
(WOOD COMP.)

- 171" ——

/" 2"\ VERTICAL CROSS SECTION

3/

ENDURA
DOOR PANEL DETAILS
& GLAZING DETAIL

PRODUCT:

LFS | PART OR ASSEMBLY:
BY

UPDATE TO 2018 IBC/IRC CODE
REVISIONS

10/23/19|ADD "FusionFrame” OPTION &

1

s
<
o
o
pd
6

DATE: 11/16/1

SCALE:

N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:
TX—4685

SHEET 3 OF 6

@ 2016 R.W. BUILDING CONSULTANTS INC.



2 2X FRAMING 2X FRAMING oy A
(G >=0.42) [G>=0.42) ;5-‘7".}2 -3 “lzl o &’
5/ - DRYWALL - DRYWALL | S7=%igi &l 5% "
— —\ ’,5:%@...~ TN, Ei o B
b ! \ V TN :—;’{f,/:" EI ‘. 5 . : Q -
' e i T B8 Ay ¢R g
EXT. SHEATHING . | EXT. SHEATHING  f|{|4 RS\ SN T
TERF L . O'; )E'N i P e ﬂ - é%:
/ / 1 O © iZie % z8a 2%
4 4 il e . 8B\ 2
! / #111# - #1114 ¢ (.O."N-E Z e Q ’é}"’ (7] il
/ / L 22 4 ot ¥ ??\ o Zoo ¢
S 11 L l 2 ud Qo ¥
f L~ #10X 2-1/2'PFH M andees™ & 8% §§
/ | WOOD SCREW ‘ s 952 . E
sHiMSPACE KL ~ v~ — >~ #10X 3" PFH R
1N X X = 14 MAX.— | WOOD SCREW 2 § g
- M s E : & 3
&/ ﬂﬁ © SHIM SPACE E R é’o
ez Q
) = 0)0o0) 8
DOOR PANEL $ DOOR PANEL \
/// /// N HEAD: PINE N HEAD: "FusionFrame" (1-PIECE) 2
S
//, // ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP EQ
(QEBD/PE 650) (QEBD/PE 650) Yo
= &)
> EXTERIOR W INTERIOR EXTERIOR ™ INTERIOR S g 2,
(] o 59
O
TV 3 TN /"2 VERTICAL CROSS SECTION ("3 "\ VERTICAL CROSS SECTION % S8
i 3 W Outswing shown - inswing also approved \_5_/ Outswing shown - inswing also approved & of &
u u a T
CORNER PADS 8 &
(TYp.) a &
0.15" .
1/4" MAX. ot e CSINK 1/4" MAX. =
SHIM SPACE P SHIMSPACE  Ext. SHEATHING
EXT. SHEATHING JAMB: "Fusionframe”
N IAME: PINE (1 OR 2-PIECE)
078" —=——{ 075 -+ [~——t-075" Tr——————— / ' ) ~ —
r—---l R S #10X 2-1/2" PFH #f,«], %’é‘%"s@REW ] e s oA s 2
4~ WOOD SCREW ) %
COMPOSITE 2X FRAMING ULTIMATE TRILENNIUM ASTRAGAL ] ol
S]] stae-on (G >=0.42) ENDURA WEATHERSTRIP S) 2X FRAMING
N (QEBD/PE 650) : ENDURA WEATHERSTRIP G (G >=0.42)
AN . 4 . DOOR PANEL RS (QEBD/PE 650) ‘
%
)
Il B 3 LN\ :
= v RS A SN (L o_
.. L LAY =
_D_[ DRYWALL/ / \ / () DeywaLL  1E11/16/16
] 125 . #8 X 2-1/2" PFH #8X 1"PFHSMS #10X 2-1/2° PFH #8 X 1" PFH SMS #8 X 2-1/2" PFH scAle: N.T.S.
' M T 125 WOOD SCREW WOOD SCREW MULTIPOINT WOOD SCREW owe. v UK
4" HINGE #B8X 1"PFH  STRIKE PLATE 4" HINGE —
JAMB / HEAD JAMB / HEAD JAMB #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS cHk. B:  LFS
It f it ", . " DRAWING NO.:
PINE FusionFrame FusionFrame! /"1 "\ HORIZONTAL CROSS SECTION 685
(1-PIECE) (2-PIECE) W Inswing shown - Outswing also approved
SHEET _4 oF _6

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, 14

© 20156 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, 1.5

A\
INTERIOR EXTERIOR
DOOR PANEL
/
ENDURA
DOOR SWEEP
/1? / (DBK-R)
11213
(&=

A\
INTERIOR EXTERIOR
LI /Y ENDURA "
WEATHERSTRIP
DOOR PANEL (QEBD/PE 650),  'NTERIOR EXTERIOR
ENDURA \
DOOR SWEEP
(DBK-ZAC) A m®®
[/

415

—

oY
SN
S T B
DOOR PANEL NS
,;'?",’iff:'. i g :
ENDURA a — i LR
WEATHERSTRIP INTERIOR EXTERIOR é‘ o S fud
(QEBD/PE 650) AT
NI
e iZ i
321{" *i2 i
Trandeed

AN

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 1\ VERTICAL CROSS SECTION
w Inswing Adjustable Threshold

NV Q

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/3 "\ VERTICAL CROSS SECTION
W Outswing Bump Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

m VERTICAL CROSS SECTION

\SJ Inswing Arficulating Threshold
w/ Pin Capture

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

m VERTICAL CROSS SECTION
w Qutswing Bump Threshold

P.E.

tyndon F. Schmidt,
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595

Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:

I nCaE NG 1 T =
0 ® 3 3
@ , - = v jj =
| 456" ! ' 4.56" | = 4.56" | 456" | ! 456"
1)INSWING ADJUSTABLE THRESHOLD 2" INSWING ADJUSTABLE THRESHOLD 3 )INSWING ADJUSTABLE THRESHOLD 4" INSWING ADJUSTABLE THRESHOLD 5 )} INSWING ADJUSTABLE THRESHOLD
ZAIL4565 ZAI4565FN ZAILAA4565 ZAIAA4565FN ZAl4565RDS
E@f A 4% [ ¢%
! 4.56" 4.56" ! 4.56" 4.56" ! 4.56"
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD g ) INSWING ARTICULATING THRESHOLD o)} INSWING ARTICULATING THRESHOLD 10)INSWING ARTICULATING THRESHOLD
6 IACLA4565 7 ZACA4565FN ZACLAA4565 IACAAA4565FN ZAC4565RDS
MAX. DESIGN PRESSURE = +30 PSF MAX. DESIGN PRESSURE = +30 PSF
¥ e AT TR AT N
1 f f J_
» 456" ,! | 456" -] R 456"
17) QUISWING THRESHOLD 12) OUTSWING THRESHOLD 13 ) QUISWING THRESHOLD 14) QUISWING THRESHOLD
1OBL4565 ZOB4565FN LOB4565RDS FOB4566

UPDATE TO 2018 IBC/IRC CODE

10/23/19|ADD "FusionFrame” OPTION &

1

REVISIONS

P
<
o
o
z
6

OATE: 11/16/'1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4685

SHEET 5 oF 6

@ 2016 R.W. BUILDING CONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4684.85.87.88.dwg, 1.6

u
8o
<%
20 o
Ex o
| £ in
Qo (3]
U)u.! [}
Wt 45
: -
og 0o
b Q0
€ ]
2 o¢
>m
om
0
o
x
2]
o
o
al

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

HEAD ANCHORS: .
s O #10 X 2-1/2" WOOD SCREW (PINE JAMB) gsgﬂgg' JS""kg Plate N&aw&}uu
QoX #10 X 3' WOOD SCREW (1 PIECE JAMB) ead Jam Sorriol
‘:‘L 0. o 6“ layg ‘?‘..-“' E E
553 \ 2 - Dt
< 9 (TYP ) g ‘[ {TYP.) L (od P : :;g
| " () ! \\ g6t A fu
Gt iz
SEE HINGE ]| i ’ l %o X 2.5" PFH WS G 1=
\ . L o “32‘9.;."3 3
. 4 4 : ~
DETAIL 1 ~EH f : DEFAIL 1 B DETAIL 1 h‘hl\{{\xx‘\-c'
g of
<r>; L. ] —  JAMB ANCHORS:
#10 X 2-1/2" WOOD SCREW [PINE/2-PIECE JAMB)
I #10 X 3" WOOD SCREW (1-PIECE JAMB)
[=¢] N
l o N \}\
g% N i3 y #8X 2-1/2" PFH WS
7] ] . //
SEE HINGE ’ Z&H"
DETAIL 2 #EXPPHWS <2 ) Hlo Sl 3= #8 X 3/4" PFH Ws
i — 1 4" X 4" HINGE
— \
>
Net - DETAIL2 OR 3 £ '
/ * ih J HINGE DETAIL 1
T ~ ~O0
s I \\ M1 / A
» SILL ANCHORS: \ .
4 (TYP) — #10 X 2-1/2" PFH WOOD SCREW | #8X2-1/2'PFHWS
4 (TYP ) - 4u (TYP.) ]/4" X 2"3/ " ELCO OR |® .. 9 /
HINGE JAMB FLOOR SUBSTRATE MATERIAL ITW CONCRETE SCREW e [1low
CONCRETE (MIN. 3000 PSH) #8 X 1"PFH WS e | e . #8 X 3/4" PFH WS
WOOD (G >= 0.42) FRAME ANCHORING m | =
XX —— 4" X 4" HINGE
\)
\
" HINGE DETAIL 2
NOTE: Outside anchors are required for D.P. > 45 PSF.
JAMB NOTES:
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB.
THE Fusionframe" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY.
CONCRETE ANCHOR NOTES: , o , 3/16" X 2-3/4" TW CONCRETE SCREW
1. Concre)fe anchor Iocahoqs_of the corners may be adjusted to maintain the min. OR ASTRAGAL PIN CAPTURE
edge distance fo mortar joints. ) #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP)
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors ASTRAGAL STRIKE 1/2" DIA. HOLE (IN CAP
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. PLATE @ SILL \ : ( )
3. Concrete anchor table: -
M o\ ® P ®
& ﬁ))\; ? = =
m el 1 /4 1-3/4" 4 i
TAPCON - 1/2'DIA.-HOLE ppran 2 DETAIL 2 DETAIL 3
ELCO . n " n Outswing Inswing Inswing
ULTRACON®| /4 1-3/4 ! 4

o
=
S
& S
& .
S X =2
=z mj <
] =N
% =
2 &
50 |8 "
3 o
S E
& &
vl >
Yl |
W
o
)
&0
)
8l
=]
S
X =
o|® O
Eigl 12
o IS ]
5| [
7]
S
Ll
g
S5
<
»
S B
NEE
S 1o
| lo
=
oate: 11/16/16
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4685

SHEET 6 OF 6

© 2016 R.W. BUILDING DONSULTANTS INC.



